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DSSSB JULY 2013

Q.1 Vivek goes 30 metres North, then turns right and walks 40 metres, then again turns right and walks 20 metres, then
again turns right and walks 40 metres. How many metres is he away from his original position? Question ID 116794311535
Ans 2 1. 5 metres
& 2. 2 metres
/< 3. 11 metres
o 4 10 metres
_— =
Q2 In a certain code, ‘li ke pee” means ‘chilly is green’, ‘tik hee’ means ‘white flowers’ and “pee nit hee’ means ‘flowers
are fruits’. How will you write “white” in that code? Question ID - 16794311529
Ans x ;
1. nit

/X 2. pee
v 3 tik
< 4 hee

Q.3 Study the information carefully and answer the question that given below:

_ === =

Question ID : 16794311536

(i) P.Q.R.S.T.Uand V are sitting around a cirele and are facing the centre.
(ii) V is second to the left of R, whodsto the immediate left of U.

(iii) P is third to the left of T.

(iv) Qis between S and T.

Which of the following is the position of0?
Ans o 1. Fourth to the right of 8.
& 2. To the immediate left of R.
< 3 Between A and S.
#< 4 To the immediate right of P.

= _—
Q.4 Select the option that is related to the third term in the same way as the second term is related to the first term.
. WY Question ID : 16794311522 ]
AnSy o 1. BEN
.2 ERASER
< 3. READ
X 4. SONG
Q5 - : e
Find the similar pair for the following: Question ID : 16794311531

50:26::
Ans X 1. 44 :11
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V2 24:13
K 311:55

X 4.30:14

Q.6 m English alphabet, which letter is midway between 2274 Jetter from the left and 21" letter from the right?

Question ID : 16794311524

Ans X 1. M
~<2R
Vi3 N
X4 P

Q7 Choose most appropriate option.

Questio| :1679

You have mild fever, you feel that:
Ans X 1. health is more important than work

& 2. it is unnecessary to think about any work
v &

it is necessary to join work just to complete the urgent on

/< 4. it is not necessary to go to offi

Q.8 Inthe following question. there are two statements labeled as Assertion (A) and Reason (R).
alternative.

Assertion (A): Telephone wires sag more in summer.

Reason (R): They expand due to summer heat.

Ans X1-

Both A and R are true and R is not

& 2. Aisfalse but R i
< 3. A istrue but R

S

Question ID : 16794311525

ent about conclusion from the

Question ID : 16794311519

TII. No soap is brush.
y conclusion IT follows.
y conclusion I follows.

X 3. Either II or ITI follows.
« 4 Either I or III follows.

Q.10 Ina class of 100 students, 63 like icecreams and 76 like cool drinks. How many of them like both?

Ans «1_ 30

Question ID : 16794311523

X 2. 35
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X 3 37
X 440

Q_1 1 Youaregivena and two Tusi Choose the about lusions from the given options below:

Statement:
All actors are singers. All players are actors.

Question ID : 16794311537

Conclusions:
L All players are singers.
II. Some actors are players.

Ans 3 1. Only conclusion II follows.

< 2. Neither conclusion I nor II follows.

< 3. Only conclusion I follows.
« 2. Both conclusions I and II follow.

@12 Find the missing character :

A P B Q

Ans
file:///C:/Users/admin/Downloads/Qp.html

Question ID : 16794311527 ]
X 4. 251
Q14 1 ol .
Find the missing number: Question ID : 16794311526 ]
1 %9 5 9
2 * 4 2 B k. 16 3 32 2
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10
64
10
46
11
64
11

-
48

Q.15 “Japan’ is related with “Tokyo’, in the same way as ‘France’ is related with .
Ans X 1. London

X 2. England

< 3. Dollar

' 4. Paris

Que

31

Q_1 6 Sreenithi, Bavya, Chithra, Deepa and Guna are five friends. Sreenithi is shorter than Bavya but taller than Guna.
is the tallest. Deepa is shorter than Bavya and taller than Sreenithi. Who has two persons taller and two persons
shorter than her?

116794311520

Ans X 1. Sreenithi
< 2. Chithra
& 3. Guna
« 4. Deepa

Q 1 7 Pointing to a man, Kavya says, “This man’s son’s sister is my mother-i

Question ID : 16794311518

Ans X' 1. Father

Question ID : 16794311521

'va and Nithya are standing in a queue. There are five girls between Banu and Dhivya and eight

nd Nithya. If there are three girls ahead of Nithya and 21 behind Banu, then what could be the QUestiOn ID 16794311530

Q.20

Question ID : 16794311534
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You are given two statements I and II. Choose the comment about the statements from the given options below:
Statements:

L The employees of the oldest bank in the country have given an indefinite strike call starting from 4™ of the next
month.

II. The employees of the Central Government have withdrawn their week long demonstrations.

Ans X1-

Statement 11 is the cause and Statement I is its effect.

o2
Statement I is the cause and Statement II is its effect.

v &)

Both the Statements I & II are effects of independent cause.

X 4

Both the Statements I & II are effects of some common causes.

Section : General Awareness

Q.1 ‘'Subsidiary Alliance' made which native state a “buffer state”, giving strategic advantage to the British?

Ans 3 1. Punjab

Question ID :

< 2. Gwalior
X 3. Hyderabad
« 2 Oudh (Awadh)

Q.2 Which Schedule of the Indian Constitution provides for

Ans  of 1 Ninth Schedule

Question ID : 16794311544

X 2. Tenth Schedule
#< 3. Twelfth Schedule

2< 4. Seventh Sched

Q3 Rig Veda co

Question ID : 16794311538

Ans X" 1. 1018

tructure Investment Bank (ATIB) concluded in

Question ID : 16794311556

Q5 mymari folk dance is related to which state?

Question ID : 16794311549

Ans 3 1. Rajasthan

/< 2. Himachal Pradesh
« 5 Bihar
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X 4 Gujarat

Q6 The Integral Coach Factory (ICF) for first time has rolled out three phase energy efficient eight car MEMU train set
built with stainless steel bodies in s

Ans  of . Chennai
< 2. Varanasi
X 3. Kapurthala
#< 4. Chittaranjan

Question ID : 16794311557

Q.7 Dhoni is the Indian cricketer to get Padma Bhushan, the third highest civilian honour.
A Question ID :
ns X 1. Qﬂl
th
<219

v gt
x4. Bﬂl

Q_ 8  Which constitutional amendment accorded status of Associate State to Sikkim by ending it's protectorate kingdom status?

6794311545

Ans X 1. 36t Constitutional Amendment Act, 1975
v 35th Constitutional Amendmen
< 3. 31 Constitutional Amendment

& 4 30t Constitutional Am

Qg According to AfrAsia Bank Global Wealth Migration Review, India i

Question ID : 16794311547

Question ID : 16794311542

Question ID : 16794311546 ]
& 2. T 400 crore
& 3. 7200 crore
o 4 T 500 crore
Q.12 The headquarter of International Olympic Committee is located in which city?
Question ID : 16794311554
Ans  of 1. Lausanne
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< 2. Zurich

X 3. Geneva

< 4 Bem

Q.13 Scientists from which country have created world’s first 3D printed human corneas
(3D printed thin protective film over eye)?

Question ID : 16794311553 ]

Ans of 1. UK
< 2 USA
# 3. China
X 4. Japan

Q.14 Where is the Union Ministry of Sports and Youth Affairs is going to establish a National Sports Museum?

Ans X 1. Gurgaon

' 2. New Delhi
X 3. Patiala
X 4. Chandigarh

Q15 YWho among the following is not a well-

Ans  of 1. C.C. Mehta
# 2. Nandlal Bose
#< 3. FN. Souza
X 4. Tyeb Mehta

Question ID : 16794311548

g

Q16 The founder of Suhrawardi o

Question ID : 16794311550 ]

Ans X 1. Sheikh Hamidud

Question ID : 16794311543 ]

ollowing rulers DOES NOT belong to the Slave dynasty?

Question ID : 16794311539

Ans 1. Tltutmish
« 2. Alauddin Khilji
X 3. Qutub-ud-din Aibak
< 4 Balban

Q19 The capital of Bahrain is )

Question ID : 16794311541
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Ans X 1. Baku

X 2. Dakar

< 3. Doha

f 4. Manama

Q.20 Which country has gifted a pair of Giant Aldabra tortoise to India as a goodwill gesture?

Ans X 1. Indonesia
o 2. Seychelles

< 3. Malaysia
< 4. Thailand

Question ID : 16794311555

Section : Arithmetic Ability

Q.1 A person spends s of his money on food, § of the remaining on clothes andg of the remaining on transport. If he is left

with ¥ 760, how much money he had in the beginning? Question ID :

Ans X 1. T 6,200
X 2. 5,500
v 3 T 5,700
X 4 5680

Q.2 The compound interest on ¥ 8,000 for 2 years is T 1.331.20. What

compounded annually? Question ID : 16794311568 ]

Ans X' 1. 12%
X2 6%
V'3 8%
X 4 10%

Q_3 A person marks his goods at 40 e a o. What is his gain percent?
Question ID : 16794311567

Question ID : 16794311570 ]
1
K40:4
Q.5 i 1 1 y .
e R - I ?.thena:b:clsequaltn: Question ID : 16794311565 ]
a b c ’
Ans of 1.21:14:6
X2 6:14:21
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K321:6:14
X4 6:21:14

Q.6 By selling 16 articles. a person lost the selling price of 4 articles. What is his loss percent?

Question ID : 16794311566

Ans X1 16%
X 2. 259

Xs-?%

v 4 20%

Q7 A can complete certain work in 40 hours and B can complete the same work in 60 hours. In how many hours will the
work be completed if A leaves 10 hours before the actual completion of the work?

Questi

Ans 1. 39
X2 42
<3 44
v 30

Q_ 8 Let x be the least number which when divided by 32, 48, 90 and 64, the remainders are 20, 36, 78 and 52 respectively.
‘What is the sum of digits of x ?

6794311564

Ans X 1. 20
X221
X3 18
v

Q.9 0.89X0.89X0.89—0
The value of
8.9%8.9%8.94+8.

Question ID : 16794311558

Ans X 1. 0.01
X 2.0.076
X 3.0.76

Question ID : 16794311561

49
4., B
488

x

Q.11 If the radius of a sphere is increased by 50%. by what percent its volume will increase?

Ans  of 1. 237.50

Question ID : 16794311569

X 2 175%
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< 3. 250%
< 4 150%

Q12 7 ot x = 62357 — 273°, then what is the unit’s digit of x ?

Question ID : 16794311560

Ans X 1.2
X2 3
Vs 4
X4 6

-—" -

Q.13 The HCF of two numbers is 12 and their sum is 384. How many such pairs of numbers are possible?

Question ID : 16794311563

Ans X 1. g
X241
X3 7
v g

% 0.163+0.25-0.18 is equal to:

Question ID : 16794311559

Ans X1.0.170
~< 2.0.198
V'3 0234
< 40233

Comprehension:
The missing values in the table can be filled basedon the data provided
in the table and questions.

Data related to numbet of employees in different companies and their
qualification 4s graduate in different streams.

Total
Companies | Employees Science Commerce Arts
A = 30% 30%
B - 40% 35%
L 450 21% 44% -
D 650 48% - -
E - . 20% 50%

SubQuestion No : 15

Q! Theaverage number of Science and Commerce

Question ID : 16794311573

graduate employees in company A was 259. What is
the total number of employees in company A?

An X< 1720

v 2 740
X 3 762
< 4. 780
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Comprehension:
The missing values in the table can be filled based on the data provided
in the table and questions.

Data related to number of employees in different companies and their
qualification as graduate in different streams.

Total

Companies | Employees Science Commerce Arts
A - 30% 30%
B - 40% 35%
C 450 21% 44% -
D 650 48% 5 -
E - - 20% 50%

SubQuestion No : 16
! In company D, the ratio of Arts and Commerce Question 1D - TESEETE 7 4

graduates is 4 : 9. What is the number of commerce
graduates in company D?

An  of 1. 234
S
X 2 216

X< 3232
X 4224

Comprehension:

Study the graph and answer the guestions that follows:

Production & Sale of Computers of varieus ¢ompany in a months

1000
900
800
700
600
500
4007
300
200
100

== Linits Sold

g Uit Prod wced

Company

SubQuestion No : 17

A i
Q7 The total computers sold by A, B and C together is Question ID : 16794311577

approximately what percent of the total computers
produced by these companies?

An X 1. 56.8%
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S

W 2 57.99%
X 3. 580
X 4.59.7%

Comprehension:

Study the graph and answer the questions that follows:

Production & Sale of Computers of various company in a months
1000

900
800
700
600
500
400
300
200
100

0

SubQuestion No : 18

%1 Which company had the high Question ID : 16794311576

with respect to its production?
An X 1. ¢
S
<2 D
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Study the venn diagram that gives the number of candidates who failed
in different subjects.

1.200 candidates appeared in an examination that comprises subjects
Physics, Chemistry and Mathematics. Answer the following questions
based on the information provided in the diagram.

~( )= 6®

Mathematics

SubQuestion No : 19

2

Question ID : 16794311580

%! What is the percentage of students who
least two subjects?

An X1 504
S
K 2. 25%

X 3. 55%
W 4 559

Comprehension:
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in different subjects.

Physics

SubQuestion No : 20

three subjects?
An X 1.69.5%
X 2. 66%
W 3. 67.5%
X 4. 68.25%

Q.2 - ' <
o What is the percentage of students who passed in all

Qp.html

Study the venn diagram that gives the number of candidates who failed

1.200 candidates appeared in an examination that comprises subjects
Physics, Chemistry and Mathematics. Answer the following questions
based on the information provided in the diagram.

Chemistry

Mathematics

Question ID : 16794311579

Section : General English

given below.

Ans

_— =

Q1 From the given options, select the one that represents the appropriate meaning of the underlined IDIOM in the sentence

My sister and I can never see eye 0 eye when it comes to choosing a place to go for a holiday.

Question ID : 16794311584

o . agree with someone
¢< 2 towatch someone carefully

< 3. the centre of a storm
< 4 tofeel awkward

Ans 3 1. important
+ 2 meaningless
< 3. outstanding

X 4 relevant

Q.2 From the given options choose the one that means the OPPOSITE of significant.

Question ID : 16794311582

Q.3
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Fill in the blank in the sentence given below with the correct option. L

Delhi is very hot and dry. My grandparents . Twishthey ____ina cooler place.
Ans 1. exhausting; staying
/< 2. exhaust; am staying
< 3. are exhausting; are staying
o 4 feel exhausted; stayed

Q4 Select the indirect form of narration of the given sentence.

My friend Sujata said to me, “You go to Sarojini Nagar if you want to buy good quality clothes at affordable prices.”

Question ID : 167

Ans X1.

My friend Sujata said to me, go to Sarojini Nagar if you want to buy good quality clothes at affordable prices

v 3

My friend Sujata suggested (to me) that I go to Sarojini Nagar if I wanted to buy good quality clothes at affordable
prices.

X 3.

My friend Sujata told me, why you don’t go to Sarojini Nagar if you want to buy good quality clothes at affordable
prices.

X 4.

My friend Sujata advised me to go to Sarojini Nagar if I want to buy good quality clothes at affordable prices.

Q5 From the given options, select the word that can substitute the underlined words in the sentence given below.

I think the number of places you want to visit within four days is rather ambitious. Yo
properly.

Ans o 1. itinerary
< 2 forum
X 3. agenda

& 4. menu

116794311585

‘Whatever the problem may be, yi

Question ID : 16794311587

Ans  of 1. have

options, select the part that has an error.

Q.7

jout there mobile phones even when we are surrounded by family

Question ID : 16794311590

without there
5 been observed
X 4. family and friends

Q.8 Fill in the blank in the sentence given below with the correct option.

Question ID : 16794311589

This article on millennials is interesting.
Ans X 1. fairest

&< 2. fair

file:///C:/Users/admin/Downloads/Qp.html
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/< 3. fairer
W fairly

Q.9 .
Choose the passage that is correctly punctuated. Question ID : 16794311595

Ans (1_

Here and there in the desert are springs of water that come from deep down under the ground---so deep that the sun
cannot dry them up. Wherever, there is a spring, trees grow tall and graceful, making a cool, green shady place called an

oasis.

X 2.

Here and there in the Desert are Springs of water that come from deep down under the ground---so deep that the Sun
cannot dry them up. wherever there is a spring trees grow tall and graceful, making a cool, green shady place called an
Oasis.

X 3.

Here and there in the desert are Springs of water that come from deep down under the ground---so deep that the Sun
cannot dry them up. Wherever there is a spring trees grow tall and graceful making a cool green shady place called an
oasis.

~ o4

Here And There In The Desert Are Springs Of Water That Come From Deep Down Under The Ground---So Deep That
The Sun Cannot Dry Them U Wherever There Is A Spring. Trees Grow Tall And Graceful, Making A Cool green shady
place called an Oasis.

Q1 ( Given below is an incorrect sentence. From the given options, select the part that has an error.

Question ID : 91

Not even ill-health has stopped the 71 year old Tabarez, Uruguay’s national team coach. which was expected to quit in
2016 but has carried on with the help of a walking stick or electric wheelchair.

Ans 3 1. with the help of

/< 2. Not even ill-health
/< 3. the 71 year old

« 4 which was expected to.quit

Q.11 Select the PASSIVE VOICE form of the given sentence.

Question ID : 16794311592
A little appreciation from teachers can reduce destructive beh

Ans X1.

dy reveals this.

vior of adolesces

uctive behavior of adolescents.

the given options. Question ID : 16794311583

Q.13 From the given options choose the one that would mean the SAME as harmony.

Question ID : 16794311581
Ans X 1. friction

< 2. discord
X 3. difference
o 2. unity

Q.14 [
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Choose the best option to combine the given sentences into a single sentence. Question ID : 16794311594 J

‘White giraffes are extremely rare. A wild life photographer caught it on camera for the first time. This happened in
South Africa.

Ans K 1.

In South Africa, a wild life photographer caught white giraffes that are extremely rare.

Y &)

Extremely rare white giraffes caught on camera by a wild life photographer in South Africa.
X3

As white giraffes are extremely rare, a wild life photographer shot one in South Africa.
~ 4

South African white giraffe. which are extremely rare, canght by wild life photographer.

Q.15 Fillin the blank in the sentence given below with the correct option.

Question ID : 16794311586

App-based on-line shopping is enticing. Even older people like my mother it from time to time.

Ans X 1. fall away

# 2. fall behind
< 3. fall upon

v 4 fall for

Comprehension:

Read The following passage and answer the questions given below:

An amateur rugby player, who was forced to eat the body parts of his
dead teammates when the plane carrying his Old Christians club to
Chile crashed in 1972, Gustavo Carlos Zerbino has motivated mercurial
Uruguayan striker Luis Suarez to keep him from biting his opponents.
Gustavo Carlos Zerbino, was once Uruguay’s mental conditioning
coach. He gave a motivational talk to Uruguay’s squad before its
departure for Moscow. . He spoke particularly to Suarez whose 2014
world cup had ended in ignominy after he was handed a four month ban
for biting Italy’s Giorgio Chiellini during the team’s last group game.
“Those were moments of indiscretion by a very emotional player. The
Suarez that we see now 18.in control of his emotions....He is an
excellent plaver and human being. ........I told him to focus on how he
plays and not what others de'on the field. I told the players that to have
extraordinary fesults you have to do extraordinary things. You have to
want the cup. believe in it and do everything in your power to claim it,”
Zerbino said.

The plane crash in October 1972 had left Zerbino and 25 others
stranded in the Andes for 72 days at 15,000 ft with temperature as low
as -35 degree centigrade with low oxygen and no water and no water or
food.. A<second year medical student then, he convinced others to eat
the dead bodies to survive. After two months three survivors were able
to trek miles through the snow to raise help. Only 16 survived and the
story told in the 1993 film *Alive’.

“If I could beat the most outrageous misfortune, the team could surely
overcome the challenges that other teams throw at them and come out
trumps,” Zerbino, who had worked with the national team for the last

12 years, told the Uruguayan squad.
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SubQuestion No : 16

Why did Zerbino speak particularly to Suarez when Question ID : 16794311600

he came to Russia for the world cup?

v a1
Zerboni is aware of the strengths and weaknesses of
all players, particularly Suarez’s emotional nature.

) Zerboni did not want Suarez to fight with his
~ opponents to defend him (Gustavo Zerboni).
X 3
Zerbino was very fond of Suarez and preferred him
over other players.
X 4
Zerboni knew Suarez is a moody player and he
could even refuse to play at the last moment.

Q1

Comprehension:

Read The following passage and answer the questions given below:

An amateur rugby player, who was foreed to eat the body parts.of his
dead teammates when the plane carrying his Old Christians club to
Chile crashed in 1972, Gustavo Carlos Zerbino has motivated mercurial
Uruguayan striker Luis Suarez to keep him from biting his epponents.
Gustavo Carlos Zerbino, was once Utuguay’s mental conditioning
coach. He gave a motivational talk to Uruguay’s squad before its
departure for Moscow. He spoke particularly toSuarez whose 2014
world cup had ended in ignominy after he was handed a four month ban
for biting Italy’s Giorgio Chiellini during the team’s last group game.
“Those were moments of indiseretion by @ very emotional player. The
Suarez that we see now 4s in centrol of his emotions....He is an
excellent player and human being, ........ I told him to focus on how he
plays and net what others do on the field. I told the players that to have
extraordinary results you have to do extraordinary things. You have to
want the cup. believe in it and do everything in your power to claim it.”
Zerbino said.

The plane crash in/October 1972 had left Zerbino and 25 others
stranded in the Andes for 72 days at 15,000 ft with temperature as low
as -35 degree centigrade with low oxygen and no water and no water or
food. A¢second year medical student then, he convinced others to eat
the dead bodies to survive. After two months three survivors were able
to trek miles through the snow to raise help. Only 16 survived and the
story told in the 1993 film *Alive’.

“If I could beat the most outrageous misfortune, the team could surely
overcome the challenges that other teams throw at them and come out
trumps,” Zerbino, who had worked with the national team for the last

12 years, told the Uruguayan squad.

SubQuestion No : 17
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7 Choose the CORRECT combination. l Question ID : 16794311599 J

Why is the 1972 air crash mentioned in this write-
up?

a. Zerboni is one of the few lucky survivors of
the 1972 air crash in the Andes.

b. The 1993 film ‘Alive’ is based on this
incident.

c. It underscores the determination and courage
of Gustavo Zerboni.

d. To highlight Zerboni’s practical
considerations as a medical student in a
desperate situation.

e. To prove how strong the survival instinct is
in all of us when there are hardly any options.

To bring out Zerboni’s mental strength even when he
was just a medical student.

An X1 ab,c.d,
&2 bcef
Vs acdf
K4afeab

Comprehension:
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Read The following passage and answer the questions given below:

An amateur rugby player, who was forced to eat the body parts of his
dead teammates when the plane carrying his Old Christians club to
Chile crashed in 1972, Gustavo Carlos Zerbino has motivated mercurial
Uruguayan striker Luis Suarez to keep him from biting his opponents.
Gustavo Carlos Zerbino. was once Uruguay’s mental conditioning
coach. He gave a motivational talk to Uruguay’s squad before its
departure for Moscow. He spoke particularly to Suarez whose 2014
world cup had ended in ignominy after he was handed a four month ban
for biting Italy’s Giorgio Chiellini during the team’s last group game.
“Those were moments of indiscretion by a very emotional player. The
Suarez that we see now is in control of his emotions....He is/an
excellent player and human being. ........I told him to focus on how he
plays and not what others do on the field. I told the players that te have
extraordinary results you have to do extraordinary things. You have to
want the cup. believe in it and do everything in your power to elaim it.”
Zerbino said.

The plane crash in October 1972 had left Zerbino and 25 others
stranded in the Andes for 72 days at 15,000 ft with temperature as low
as -35 degree centigrade with low oxygen and no watet and no water or
food. A second vyear medical student then. he convinced others to eat
the dead bodies to survive. After two months three survivors were able
to trek miles through the snow to raise help. Only 16 survived and the
story told in the 1993 film *Alive’.

“If I could beat the most outrageous misfortune, the team could surely
overcome the challenges that other teams throw at them and come out
trumps,” Zerbino, who had worked with the national team for the last

12 years, told the Uruguayan squad.

SubQuestion No : 18

Q.1 . :
¢ Refer to second paragraph last two sentences. What Question ID : 16794311601

lesson canwe learn from Zerboni’s advice to the
Uruguayan squad?

An X’ 1
We have to achieve our goal by fair means or foul.
v
To be successful. we must know our goal and then
work very hard to achieve it.
503
Every possible means can be used to keep our rivals
out of our way.

y 3
There is no need to be scrupulous to achieve the
goal we have in mind.

Comprehension:
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Read The following passage and answer the questions given below:

An amateur rugby player, who was forced to eat the body parts of his
dead teammates when the plane carrying his Old Christians club to
Chile crashed in 1972, Gustavo Carlos Zerbino has motivated mercurial
Uruguayan striker Luis Suarez to keep him from biting his opponents.
Gustavo Carlos Zerbino. was once Uruguay’s mental conditioning
coach. He gave a motivational talk to Uruguay’s squad before its
departure for Moscow. He spoke particularly to Suarez whose 2014
world cup had ended in ignominy after he was handed a four month ban
for biting Italy’s Giorgio Chiellini during the team’s last group game.
“Those were moments of indiscretion by a very emotional player. The
Suarez that we see now is in control of his emotions....He is/an
excellent player and human being. ........I told him to focus on how he
plays and not what others do on the field. I told the players that te have
extraordinary results you have to do extraordinary things. You have to
want the cup. believe in it and do everything in your power to elaim it.”
Zerbino said.

The plane crash in October 1972 had left Zerbino and 25 others
stranded in the Andes for 72 days at 15,000 ft with temperature as low
as -35 degree centigrade with low oxygen and no watet and no water or
food. A second vyear medical student then. he convinced others to eat
the dead bodies to survive. After two months three survivors were able
to trek miles through the snow to raise help. Only 16 survived and the
story told in the 1993 film *Alive’.

“If I could beat the most outrageous misfortune, the team could surely
overcome the challenges that other teams throw at them and come out
trumps,” Zerbino, who had worked with the national team for the last

12 years, told the Uruguayan squad.

SubQuestion No : 19

Choose the correct option. Question ID : 16794311597

Who is this write-up about?

5 1. Oscar Tabarez, Uruguay coach

/< 2" Luis Suarez, Urnguayan striker
#< 3. Giorgio Chiellini, Ttalian defender.

o Gustavo Carlos Zerbino, Uruguay’s mental
- conditioning coach

Comprehension:
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Read The following passage and answer the questions given below:

An amateur rugby player, who was forced to eat the body parts of his
dead teammates when the plane carrying his Old Christians club to
Chile crashed in 1972, Gustavo Carlos Zerbino has motivated mercurial
Uruguayan striker Luis Suarez to keep him from biting his opponents.
Gustavo Carlos Zerbino. was once Uruguay’s mental conditioning
coach. He gave a motivational talk to Uruguay’s squad before its
departure for Moscow. He spoke particularly to Suarez whose 2014
world cup had ended in ignominy after he was handed a four month ban
for biting Italy’s Giorgio Chiellini during the team’s last group game.
“Those were moments of indiscretion by a very emotional player. The
Suarez that we see now is in control of his emotions....He is/an
excellent player and human being. ........I told him to focus on how he
plays and not what others do on the field. I told the players that te have
extraordinary results you have to do extraordinary things. You have to
want the cup. believe in it and do everything in your power to elaim it.”
Zerbino said.

The plane crash in October 1972 had left Zerbino and 25 others
stranded in the Andes for 72 days at 15,000 ft with temperature as low
as -35 degree centigrade with low oxygen and no watet and no water or
food. A second vyear medical student then. he convinced others to eat
the dead bodies to survive. After two months three survivors were able
to trek miles through the snow to raise help. Only 16 survived and the
story told in the 1993 film *Alive’.

“If I could beat the most outrageous misfortune, the team could surely
overcome the challenges that other teams throw at them and come out
trumps,” Zerbino, who had worked with the national team for the last

12 years, told the Uruguayan squad.

SubQuestion No : 20

What is the purpose of this Write-up? Question ID : 16794311598

r
To bring out the meaning of teamwork as opposed to
individual excellence.

X2
To show how mental conditioning coaches help
individuals attaifi peak performance.

X 3
To list the strength and weaknesses of Uruguayan
players playing in the world cup 2018.

v &
To highlight the qualities of G. C. Zerboni and his
role in inspiring the Uruguayan team in the 2018
FIFA World Cup.
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Comprehension:

Arer fadr a1 TEETer F e I T YAl F 3ec} AT

YA & THFEIT FOE OAERET Fid JE@E o AR,
Tt AR AR ST FeErtear o §l R, HRRE,
HYET, I3T 3 JT8E Feradl gl weEe JaAmer fagfas
FEAT gAY IA=E H HT AT I FEifaa § Fee-
ST §1 AT TR Tl F Gel F 3297 AR TS FIer
FEIA & YT TG Far H FHIG H FEwar § & g
gl TTFSUT g H FEET AT H JRA GG &H " A
et a5 gdig @ #1 YHEe ¥ THAGeIT FEeieRi A
fregsary o Fiffw A gedw wefoe wa aRafe
gt ¥ Farfaar fEa 91 TeggTary a#@ T S fr FEEr
e 3R gedw # g F T g wEE g5 ey &l
#r & Fer=ar gl

SubQuestion No : 1

U 18 e & wrE [ Question ID : 1679431606
A X ST

X 2. TUFST ST

X 5. gEAA

v 4 faeTgeRATY AT FIRE

Comprehension:

file:///C:/Users/admin/Downloads/Qp.html

23/65



8/2/2018 Qp.html

A fedr a1T aTEErer F ggEY I T WAl & 3ok ST

YHEE & THFOT FHS SAERET Fid THE & YA,
arfe HR AT wu= FEtear e {1 REER, s,
HYAT, T[T 3T FT8E FEleidl gl MRy JaAeT Cfogras
FEAT gAY IHTE H AT AT 3w A FEifear § Fee-
o §1 HA N TR Tl T Bel H 32T AR T FTon
FEIT T YT TG 64T H TEE H FEriwar & & g
gl TIFSUT g H FHEHT AT F JRA GG & T A
ot % 9dig gdr %1 9HEe F THAGeIA FEEemRI H
fFegeery o FIfRE AR gadw dAfes T aREis
et 9t Ferwar ey O feaaary oA T St #r FeEr
@ K gede #r g # h wga 9= gg1 ¥ e @t
#r & Ferar gl

SubQuestion No : 2

a? {AHSUT STH Fr FaTar %: Question ID : 16794311607

An

s W Biﬁ:gi'a?rm
X 2 T

X as

K4 g # FT

-— amm W ——— e ——

Comprehension:
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A fedr a1T aTEErer F ggEY I T WAl & 3ok ST

YHEE & THFOT FHS SAERET Fid THE & YA,
arfe HR AT wu= FEtear e {1 REER, s,
HYAT, T[T 3T FT8E FEleidl gl MRy JaAeT Cfogras
FEAT gAY IHTE H AT AT 3w A FEifear § Fee-
o §1 HA N TR Tl T Bel H 32T AR T FTon
FEIT T YT TG 64T H TEE H FEriwar & & g
gl TIFSUT g H FHEHT AT F JRA GG & T A
ot % 9dig gdr %1 9HEe F THAGeIA FEEemRI H
fFegeery o FIfRE AR gadw dAfes T aREis
et 9t Ferwar ey O feaaary oA T St #r FeEr
@ K gede #r g # h wga 9= gg1 ¥ e @t
$r & Feifear gl

SubQuestion No : 3

as TATAT Q'ﬁ-‘f%'lﬁﬂ? FaTar %’: Question ID : 16794311605
A .\ B
o 1 ITEREN

< 2 TPEP

o< 3 HEST

X 4 T

Comprehension:
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A fedr a1T aTEErer F ggEY I T WAl & 3ok ST

YHEE & THFOT FHS SAERET Fid THE & YA,
arfe HR AT wu= FEtear e {1 REER, s,
HYAT, T[T 3T FT8E FEleidl gl MRy JaAeT Cfogras
FEAT gAY IHTE H AT AT 3w A FEifear § Fee-
o §1 HA N TR Tl T Bel H 32T AR T FTon
FEIT T YT TG 64T H TEE H FEriwar & & g
gl TIFSUT g H FHEHT AT F JRA GG & T A
ot % 9dig gdr %1 9HEe F THAGeIA FEEemRI H
fFegeery o FIfRE AR gadw dAfes T aREis
et 9t Ferwar ey O feaaary oA T St #r FeEr
@ K gede #r g # h wga 9= gg1 ¥ e @t
#r & Ferar gl

SubQuestion No : 4

as garg g it & e éﬂ Question ID : 16794311603
K e

X 2. T wiaar

v 3 TrImETET

X 4 gOETaTdr

Comprehension:
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A fedr a1T aTEErer F ggEY I T WAl & 3ok ST

YAEE & THFGT J0E TEAEET Hid @€ F AT,
a3 T gu= Fafaar e §1 Reer, g,
HYAT, T[T 3T FT8E FEleidl gl MRy JaAeT Cfogras
FEe ¥ YT dEe & AR g I H @ @ e
Forcr &1 A T TE AT B B FT 32T oL T aTer
FEIA & YT TG Far H wHG H FEiwar § & ger
gl TIFSUT g H FHEHT AT F JRA GG & T A
o 1 wdig @t F 9Eee F FATed FEeeR A
fregeery o FifRE AR gedw wAfes wE aREis
fowat av Feear oraa O TRasTary oA FifRE & FEeT
@ K gede #r g # h wga 9= gg1 ¥ e @t
#r & Ferar gl

SubQuestion No : 5

as JHIE ST Fer JAel & Question ID : 16794311604
A - W
Sn 'K 1. ]

Vo 97 Fr 1T

X3 RIS

~ 4 E;ET
as HUeT F EeH FaT gEn? Question ID : 16794311621
Ans X 1. HTERIT

v 2. PRI

&K HTYR

fa-Ears
¥ ‘T F GUIEET T & Question ID : 16794311619
A e

veimfaar

<3 aRar

< 4 EERh
as A I Y Question ID : 16794311610

Ans X1 Y T 3UHR Y o Al aTelT
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< 2 ST

<3 HTATRIY

v 4 T T 39SR T AES Jrem

Y oaERRT I vaET T AT T P

Question ID :

16794311608

Ans X 1 EET
o T
X3
X 4 g

_— =

Q10 (i FR-f=ae @

Question ID

116794311611

A XK@+ T
K2 g+ Fper
Vs ®H + AT
X4 e + TN

M eERRT A Y aET T S T E?

Question ID

:16794311609

Ans X1 iy
X< 2 T
Vs grer
X 4 FHEY

_— _ @ @—_— @

Q42 ﬁﬁ#hma?ﬁmrarﬁmg%mﬁmﬁmréﬂ

Question ID

116794311615

Ans X 1. T FT
X2 faErE #
V' gtamEgedr
< 2 A

U reefEm & ww

Question ID

116794311612

Ans X1- aﬁzl

O @ adEEh

Question ID

116794311618

Ans
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v anfee

X 2. Feleh

P

& 4 TETRT

O ST # FiE-ar o =RE P Question ID :

Ans X 1 FEIT
Ve e
< 3 T
< 4 HETFR

O afaRE @ FiE-w o= T fonliD

Ans ?(1- '\3?&"
X2 3fm

X 3 ot

Vs 3ER

X4 ona A 2
ar “El::[' T IATEET & Question ID : 16794311620
Ans XL o

X2 Te

Question ID : 16794311616

Question ID : 16794311622

Vo gg
<3 Ag

X4 g@

Q.20
‘THT el BTN T E Question ID : 16794311617

Ans
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Section : Subject Related

Ans

<1

v

Q.1 Which of the following sequences of three-address instructions can be used to evaluate Y = (A — B)/(C+D*E)?

SUBY.A.B
ADBT T ¢
MPYT,D.E
DIVY,Y, T

SUBY.A.B
MPY T.D.E

"ADDT.T.C

DIVT YT

SUBY.A.B
MPY T.D.E

"ADDT.T.C

DIVY, LT

SUBY.A.B
MPY T.D.E
ADDT,T.C
DIVY,Y, T

‘Which of the following refers to a memory acces
: wing o1y
and independent of the sequence of prior accesse

Question ID :

Question ID : 16794311633

s the correct relationships between different categories of cache

Question ID : 16794311627

Q_4 ‘With respect to system bus, are used to control the access to and the use of the data and address lines.

Ans  of 1.
X 2.
~ 3
X 4

Control lines
Address lines
Encoders
Decoders

Question ID : 16794311631
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Q.5 State whether the following statements are true or false. l

Statements:

Question ID : 16794311638

(i) For main memory, the unit of transfer is the number of bytes read out of or written into memory at a time.
(i)  The unit of transfer need not equal a word or an addressable unit.

« 1. (i) False, (ii) True
& 2. (i) True, (ii) True

< 3. (i) True, (ii) False
/X 4. (i) False, (ii) False

Ans

Q.6 The number of lines used in a data bus is referred to as the

Ans 3 1. volatility

of the data bus.

Question ID : 1

X 2. length
X 3. density

Question

v 4 width
Q.7 The number of addressable memory units for a 10-bit size address bus is:
Ans X 1. 256

< 21023

31024

X 4. 512

g

Q.8 Which of the following is a communication pathway conn

Ans  of 1. Bus

Question ID : 16794311623

X 2. Control Unit (CU)
< 3. Memory
< 4 UPS

Q9 Opcodes are

Question ID : 16794311635

Question ID : 16794311626

< 4. Element

Q.11 Which of the following statements is correct?

(6] A hard disk is also used to provide an extension to the main memory known as virtual memory.
(i) DRAM is faster than SRAM.

Question ID : 16794311639 ]

(iii)  External, nonvolatile memory is also referred to as ‘secondary memory” or ‘auxiliary memory”.
Ans  of 1 Statements (i) and (iii) are correct

#< 2. Statements (ii) and (iii) are correct
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#< 3. Statements (i) and (ii) are correct

X 4. Statements (i), (ii) and (iii) are correct

Q12 With respect to system buses, SCSI stands for: Question ID : 16794311625 ]
Ans X 1. Solid Computer System Interface
& 2. Synchronous Computer System Interface
« 3. Small Computer System Interface
< 4. Small Computer Side Interface

Q.13 State whether the following statements are true or false.

Statements:
i) SCSI is itself a type of bus used to support local disk drives and other peripherals.
(ii) A serial port could be used to support a printer or scanner.

Ans 1. (i) False, (ii) False
< 2. (i) False, (ii) True
o 3 (i) True, (ii) True
# 4. (i) True, (ii) False

Q1 4 With respect to accessing speed, which of the following represents the correct relationships bef erent categories
of cache memory?

Question ID : 16794311628

Ans X1 L1<L2<L3
K2 12<L1<13
X Ll<Li<I2
V4 L3<L2<L1

Q.15 Which of the following sequences of one-addre

Question ID : 16794311640 ]

SUBB
DIVY
STOREY
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LOADD
MPY E
ADDC
X STOREY
LOAD A
DIVY
SsUBB
STOREY

LOADD
ADDC
MPY E
Y STOREY
LOAD A
SUBB

DIVY
STOREY
Q1 @ With respect to cache organisation. direct mapping maps each block of main memory into possible cache line.
stion | 6794311636
Ans X 1. Two

« 2. Only one
< 3. Four
/X 4. Eight

Question ID : 16794311630

Ans 3 1. Both, Interrupt-driven
« 2. Programmed [O

Question ID : 16794311632

Question ID : 16794311642 ]

< 2. (i) False. (ii) True
X 3. (i) False, (ii) False
< 4. (i) True, (ii) False

Q.20
Question ID : 16794311629
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Identify the valid cache organisation techniques:
(i) Direct
(i)  Associative
(iii)  Set-associative

Ans o 1. (i), (i) and (ii)

/< 2. (i) and (ii) only

#< 3. (ii) and (iii) only

X 4. (i) and (iii) only

Section : Subject Related

Q.1 Which of the following will be used for a system having multiple instances of a resource type?

Ans 1. Resource-allocation graph

+ 2. Banker’s algorithm
X 3. Semaphores

/< 4. Wait-for graph
Q.2 Identify the missing digits in the following expression so that the left hand side is equal ight hand side. *
(101072 + (?T)g = (2416 uestion ID : 16794311662
Ans “ 1.5 1
K216
~K301
Kal,2

Q3 I£(1101), =

41)16. W fx? Question ID : 16794311659

Ans (1. ]
<210
<34

statements 1s FALSE? Question ID : 16794311648

# 3. An operating system is interrupt-driven.
X a

The program running at all times on a computer is the kernel.

Q.5
Question ID : 16794311649
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Match the following:

List-1 List-2

I) Long-term scheduler A) Swapping

II) Medium-term scheduler B) Job Scheduling
ITT) Short-term scheduler C) CPU Scheduling

Ans 1. I-A, II-C, III-B
X 2. 1-C, II-A, III-B
X 3. I-A, II-B, III-C
W 4 I-B, II-A, TTI-C

-— -

Q.6 A process is a(n) entity, whereas a program is a(n) entity.

Ans o 1. Active, Passive

Question ID : 16794311643

/X< 2. Passive, Passive
< 3. Active, Active

< 4. Passive, Active
—_— & &

Q7 In . one thread immediately terminates the target thread.

Question ID : 16794311645 ]
Ans

/< 1. Deferred cancellation

X 2
Both deferred and asynchronous cancallation

' 3. Asynchronous cancellation
# 4. Synchronous cancellation

QS Suppose that a process is in ‘BLOCKED” state waiting for some I/O service. When the service is completed. it goes to

the state. Question ID : 16794311646
Ans v’ 1. ready

< 2. running
< 3. terminated
/< 4. suspended

Q.9 Which of the following is the base-4 representation of the decimal number 213?
= ) Question ID : 16794311655

X 2. (3113)4
<3 (111
v a3111),

Q.10 Consider the following table and answer the given question:

Question ID : 16794311652

Process CPU Arrival
ID Burst Time
P1 5 0
P2 7 2
P3 3 3

Which of the following options represents the completion order of the three processes under the
FCFS (first come, first served) and RR (round robin) policies (with CPU quantum of 2 time units)?

Ans
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#< 1. FCFS: P3, P2. P1 and RR: P3. P2, P1
« 2 FCFS: P1, P2, P3 and RR: P3, P1, P2
/X 3. FCFS: P1, P3, P2 and RR: P1, P2, P3
< 4. FCFS: P1, P2, P3 and RR: P1, P2, P3

Qp.html

Q1 4 Consider the following page reference string:
1,2.3,2,4,1,3,2,4,1

page faults under the corresponding page replacement strategy. Then, which of the following expressions is true?

Ans o 1. OPTIMAL < FIFO < LRU
& 2. FIFO = OPTIMAL
# 3. FIFO < OPTIMAL <LRU
& 4 LRU = FIFO = OPTIMAL

Assume that there are three page frames which are initially empty. Let LRU, FIFO and OPTIMAL denote the number of

Question ID : 16794311653

Ans X 1. 79800
< 2. 79899
v 3 79900
< 4. 89999

Q12 WWhat is the 10’s complement of the decimal number 201007

_— ==

_ _— ==

Question ID.: 16794311657

Ans X1.4
)
<37
- £

Q.13 If(12207)g = (1010110000111)5, then what is the missing digit in(12207)g?

Question ID : 16794311660

and current allocation to these processes are as follows:

X Y |Z
Maximum Resource 8% | S
Requirement
Current Allocation 4 [1 |3

‘Now, consider the following resouree requests:

(1) X makes arequest for 2 resource naits

(ii) Y makes a requestfor.2 resource units

(ili)  Z makes a request for 2 resource units

For the system to be in safe state, which of the following must be granted?

Ans (X 1, Only requiest (i) must be granted
< 2. Only requests (1) and (ii) must be granted
7€ 3. Only requests (i) and (ii) must be granted
+ 2. Only request (iii) must be granted

— —

Q1 4 Consider a system with ten units of resource R and three processes: X. Y, and Z. The maximum resource requirement

Question ID : 16794311654

Job 1 requiring 200 KB arrives
Job 2 requiring 350 KB arrives
Job 3 requiring 300 KB arrives
Job 1 finishes

Job 4 requiring 120 KB arrives
Job 5 requiring 150 KB arrives
Job 6 requiring 70 KB arrives

Between best-fit and first-fit. which one will perform better for this process sequence?

Ans X 1. Cannot be determined
/< 2. Both, first-fit and best-fit

< 3. Best-fit
file:///C:/Users/admin/Downloads/Qp.html

Q.15 A computer installation has 1000 KB of main memory. Jobs arrive and finish in the following sequence.

Question ID : 16794311651
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W 4 First-fit

Q.16 Which of the following is NOT a file manipulation system call in the Windows operating system?

Question ID : 16794311644 ]

Ans o 1. CloseFile()
X 2 WriteFile()
X 5 ReadFile()
X 4. CreateFile()

Q17 I£(10011), = (631) then what is the value of x?

Question ID :

Ans X 1. 4
<28
<32
Vs

Q.18 What is the 15°s complement of the hexadecimal number (C00D0);5?

uestion 16794311656 ]

Ans X" 1. (3EE2E)i6
X 2 (2FF3F)6
& 3 (2EE3E)4
o 4 (3FF2F)i5

Q1 O Considering 2’s complement representation for negative numbers, what is
content 100000002

N

Question ID : 16794311661

Ans X1 +128
X2 —0
<340
v —128

a logical address have?

Question ID : 16794311647 ]

Question ID : 16794311664

K3l
K400

Q.2 Which of the following data structures is used in implementing recursive calls?

Ans

Question ID : 16794311675
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#< 1. Hash Table

v 2 Stack

< 3. Queue

/< 4. Binary Tree

Q.3 Which of the following properties ensures that an algorithm must always terminate after a finite number of steps?

Ans X 1. Output

& 2. Definiteness
+ 5 Finiteness
X 4. Effectiveness

Question ID : 16794311677

Q4 State whether the following statements are true or false.

Statements:
(i) The JK flip-flop is a basic building block of combinational logic circuits.

6 Ermniinsesmin ke mseratoeain! s e okl

Ans 3 1. (i) True. (ii) True
/< 2. (i) True, (ii) False
< 3. (i) False, (ii) False
o 2. (i) False, (ii) True

Q.5 How will (0.10101), be represented using normalised sci
Ans 11,0101 x 271
< 2 10.101 x 272
<3 010101 % 20
< 4 0,010101 x 2!

Question ID : 16794311678

gate.

Question ID : 16794311665

statements are correct?
i 1" control of Visual Basic can also be used to display outputs.
(if)  The image in an ‘Image Box’ control is stretchable.
(i) ~ The most common event associated with the 